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e Source: FCC International Bureau Filing System (IBFS)
All (including current and expired): 35,350
Currently Licensed Facilities: 4,820 (compared to 4,700 in FCC NOI)

e Trend: No. of stations and No. of new grants are decreasing
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Earth stations

Wiite a description faryour map.
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Sharing. It is feasible for mobile broadband to share the 3.7-
4.2 GHz band with fixed point-to-point links because of the
relatively small number of licenses.

Confidential NOKIA



. $ $4% -( $ % $ ! $'3$
6 47 * $ 891! 189 ! -56 &%
)88, * ! $ ! I-

e "$ $. 9 )$4 4 0- ) 9 11& &% $
$ ) $4 *--4

« ) -

| "#S % &'
) 1% &'( +,-
e (__6-
| "H#$ % &'( & 44 $* $$ 0 $

&$ 1) 6

Confidential



C$ C7

*



= 4:@'4+:?7'45 DC :?'4+1:2'45



% % [/ 4: .89 <
32"" +344"
3:?4+3:44* # -
24" +?7@@" < $-.

2@7M7@@" $
$ $



8% 4- 0
6>.89 8%




8% 4- 0

[% ( |
"5 "'4+':34* =% E$ +
3+?2"5 (% $ E< 8% $

343 5 * = § E

?+!25.( +C $
% ( C

“?5

?215



)

“54% <( %
) )
0-

=>? $ & 44

% 1 175 $
., 4 1=
'$ $ 0!
$



/C4> .89 %! ' 00"/ -

7C 47C:@ #% & ./ 0O B -5
/C:4> 8945

$ % 0 6D %9 -
$ %/ %
%4%9 % BO $ % %

%

, @ % 0% # FI G #
E % % %% $ !



"% )% % <
<6 *
3'5 * 32:+335
?'5 * ?+745
4" 5 * 4":?7+4" 5
"-"5 * 12+l 5 : 2+ 5
#0 @45 *< $ $



&%






